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Topic: Temperature

1
What makes a thermometer sensitive to small changes in temperature?
A a bulb with a thin glass wall

B a shiny liquid in its bore

C a stem with a thick glass wall

D a very narrow bore

    2
A new liquid is tested to decide whether it is suitable for use in a liquid-in-glass thermometer.It is found that the liquid does not expand uniformly with temperature.What will be the effect of this on the scale of the thermometer?
A It has a short range.

B It is not linear.

C The markings are too close together.

D The markings are too far apar

3  A liquid-in-glass thermometer consists of a bulb containing a liquid. The liquid can expand into a very thin capillary tube. [image: image9.jpg]¥y
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The liquid in the thermometer is replaced by another liquid that expands more for the same temperature rise.The new thermometer will have

A greater sensitivity and greater range.

B greater sensitivity but less range.

C the same sensitivity and the same range.

D the same sensitivity but greater range
4 The diagram shows a mercury-in-glass thermometer. The distance between the –  10 °C and the 110 °C markings is 25 cm.
[image: image2.emf] 

At which temperature is the end of the mercury thread 15 cm from the –10 °C mark?
A 50 °C 
B 60 °C 
C 62 °C 
D 72
5 A clinical thermometer is designed to respond quickly to a change in temperature and to have a high sensitivity. 
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Which design features should the clinical thermometer have?

[image: image4.emf]
6
Four mercury-in-glass thermometers are made with different dimensions
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Which will have the greatest sensitivity?
A 10 cm long and bore 0.75 mm wide

B 15 cm long and bore 0.50 mm wide

C 25 cm long and bore 0.10 mm wide

D 30 cm long and bore 0.25 mm wide

7
The diagram shows a liquid-in-glass thermometer
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At 0 °C, the length of the liquid column is 2.0 cm. At 100 °C, the length of the liquid column is 22.0 cm.What is the length of the liquid column at 40 °C?

 A 6.0 cm
 B 8.0 cm 
C 8.8 cm 
D 10.0 cm
8
The sensitivity of a liquid-in-glass thermometer depends on the volume of liquid used and the diameter of the bore of the thermometer.Which changes will produce the greatest increase in sensitivity
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9
A thermocouple thermometer is made from two wires connected to a voltmeter.
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Which arrangement gives a reading on the voltmeter?

10
A thermometer is calibrated by placing it in pure melting ice and then in steam at 1000C.the length of mercury  coloumn is 4cm in pure melting ice and 28cm in the steam.Calculate the temperature for a  length of 22cm.
